
QUANTITY PART DESCRIPTION
4 ARM - 5MM MATTE FINISH CARBON FIBER

1 TOP PLATE WITH 2 PRESS NUTS INSTALLED – 2MM MATTE FINISH CARBON FIBER

1 BOTTOM PLATE – 3MM MATTE FINISH CARBON FIBER 

1 FRONT ARM BRACE - 4MM MATTE FINISH CARBON FIBER

4 KNURLED M3 ALUMINUM STANDOFF X 22MM LONG (BLACK ALUMINUM)

8 M3 LARGE DIAMETER FLANGE STANDOFF X 17MM LONG (BLACK ALUMINUM)

2 DOPPLEBANGER FRONT BRACE SPACER (3D PRINTED BLACK PLASTIC)

1 DOPPLEBANGER CAMERA MOUNT, FITS 19MM WIDTH CAMERAS ONLY (3D PRINTED BLACK PLASTIC)

2 TPU MICRO CAMERA MOUNT TYPE 2 (3D PRINTED BLACK PLASTIC)

1 DOPPLEBANGER GOPRO MOUNT (3D PRINTED BLACK PLASTIC)

4 M3 X 22MM LONG BUTTON HEAD SCREW (STEEL)

4 M3 X 14MM LONG  SOCKET HEAD SCREW (STEEL)

10 M3 X 12MM LONG  SOCKET HEAD SCREW (STEEL)

2 M3 X 10MM LONG  SOCKET HEAD SCREW (STEEL)

18 M3 X 8MM LONG  SOCKET HEAD SCREW (BLACK 7075 ALUMINUM)

8 M3 X 8MM LONG  SOCKET HEAD SCREW (STEEL)

2 M2 X 5MM LONG SOCKET HEAD SCREW (STEEL)

2 #4 X 3/8” LONG PHILLIPS SELF TAPPING HEAD SCREW (STEEL)

1 M5 X 20MM SOCKET HEAD SCREW (STEEL)

1 M5 HEX THREADED INSERT

2 M2 WASHER (STEEL)

4 M3 WASHER (SILVER ALUMINUM)

2 M3 X 4.5MM OD X 3MM LONG SLEEVE (SILVER ALUMINUM)

2 M3 X 6MM OD X 3MM LONG SLEEVE (SILVER ALUMINUM)

4 M3 NYLOCK NUT (STEEL)

1 RUBBER GROMMET

8 M3 X 6MM LONG FEMALE-FEMALE HEX STANDOFF (BLACK OR WHITE NYLON)

2 VELCRO BATTERY STRAP – CATALYST MACHINEWORKS AWESOMENESS

N/A FPV ANTENNA MOUNT OF YOUR CHOICE (NOT INCLUDED – PICK IN ACCESSORIES SECTION OF OUR SITE)


